
56 Huth Manufacturing 800-558-7808 - (262) 673-9440

				  

Replacement PartsSection VI Replacement PartsSection VI

985 Rod Bracket Bender Replacement Parts

Material for Rod Bender
The following lengths of rod material can be ordered directly 
from your exhaust distributor:

Part No.	 Dia.	 Length
F2372	 7/16"Round	 14" (20 pcs.)
F2373 	 1/2" Round	 14" (20 pcs.)
F2374	 1-1/4" Flat	 14" (20 pcs.)

Key	 Part No.	Description
1.	 97432		  Arbor
2.	 97433		  Pin
3.	 97431		  Block
4.	 97434		  Guard, Vinyl
	 98071		  Label, Pinch Point (Not Shown)
5.	 515		  Set Screw, 1/4" NC x 5/8"
6.	 97395		  Washer, Flat, 1/4"
7.	 97393		  Machine Screw, 1/4" NC x 5/8"

986 Muffler Stand Replacement Parts

Key	 Part No.	 Description
1.	 97466	 Top Assembly
2.	 97422	 Casting
3.	 97429	 Spring, Catch
4.	 97427	 Catch
5.	 98072	 Decal, Exhaust Work Only
6.	 98073	 Decal, Maximum 70 lbs.
7.	 97467	 Base Assembly
8.	 97430	 Washer, Rubber
9.	 97246	 1/4" Nut
10.	 97426	 1/4" x 1/2" Bolt, Stove

 


